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Ideals for irreducible component#ﬂ)f Xpar

I = (—u® +10u® + - 4o+ 2u, v —u®? + - ta—1, - 20+ -8+ 1)
I = (u* — 202 +b+2u, —u®+3ud+a+1, u® 4+’ —3u* —2u®+2u% —u—1)

* 2 irreducible components of dim¢ = 0, with total 30 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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I = (—u?°+10u'®+- - - +-b+2u, u?

(i) Arc colorings
e ()
w=(0)
(J)
= (at)
.
ay = (u%u—%lgﬁ?:
(
-
(o4
(e
C

a5 =

!

I.

+5u+1
C—6u? — 2u

20 +u?? 4+ 6u+2
ag = uB 120+ —u+1
wl® —5u8 + 8ub —5ut +3u? -1
a1 = \u'? —6u'd + 1208 — 8ub + ut — 2u?
u19 +10u!” + -+ 5u+1
a4 = —uP 4 —2u—1
ub + 3ut —2u? +1
ag = —u® 4+ 4ub — 4u*
—u'® 4+ 508 — 8ub + 5ut —3u? +1
ag = —ul0 4 4u® — 3u8 — 2ut — 2
(ii) Obstruction class = —1

(iii) Cusp Shapes = —4u?? + Tu?? + 45u?! — 76u%°
727u'® — 9614 + 840u'? + 1203u'3 —
— 63u?

41447 + 79ub + 239u°® — 78u*

550ut? —
+41u? +22u — 6

_u22+...+a_1’ u24

_2u23+. .

-—8u2+1)

—213u™ + 331u'® + 563u!” —
11594t + 373u!0 + 788u? — 28448 —



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
€1 w +u® 4+ 33u+ 1
Co,Cy WP TP 9+ 1
c3, C7 u?t —u? -+ 64u + 64
C5,C6, C10 U2472U23+"‘78U2+1
C11
Cs ut +2u®? 4 -+ 4 T956u + 4721
Cg, C12 u24—2u23+---+2u—|—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing

@ y* +51y* ... — 780y + 1

C2,C4 vty 4+ =33y +1

c3, 7 y?* — 39y + - — 65536y + 4096

€5, C6, C10 Y2t 26y 4. 16y + 1
11

cs Y2t + 94y + ... — 805269180y + 22287841

Cg, C12 A4 34yB 4 — 16y + 1




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y=1CS)

Cusp shape

u = —0.546136 4 0.7049981
a= 0.218919 4 0.5451111
b= —1.58637 4 0.307531

13.8157 + 6.63721

—5.51662 — 4.822211

u = —0.546136 — 0.7049981
a= 0.218919 — 0.5451111
b= —1.58637 — 0.307531

13.8157 — 6.63721

—5.51662 + 4.822211

u = —0.490937 4 0.7212171
a = —0.42824 + 1.498331
b= —0.020820 — 0.3172181

13.98230 — 1.871331

—5.11127 — 0.614951

u = —0.490937 — 0.7212171
a = —0.42824 — 1.498331
b = —0.020820 + 0.3172181

13.98230 + 1.871331

—5.11127 + 0.614951

u = 0.581256 + 0.5323931
0.124238 + 0.2616881
b= 1.180950 + 0.5055131

2.81700 — 3.482531

—5.09473 + 5.874301

u = 0.581256 — 0.5323931
a= 0.124238 — 0.2616881
b= 1.180950 — 0.5055131

2.81700 + 3.482531

—5.09473 — 5.874301

u= 0.371044 4 0.5930721
a= 0.614735 4 1.0783401
b= —0.138383 4 0.1111771

3.46440 — 0.369691

—3.22680 + 1.749901

u= 0.371044 — 0.5930721
a= 0.614735 — 1.0783401
b= —0.138383 — 0.1111771

3.46440 + 0.369691

—3.22680 — 1.749901

u = —0.560055
a = —0.358547
b= —0.698358

—0.920303

—10.4000

uw = —1.44707 + 0.160241

a = —0.1025080 + 0.01996731

b= —0.075688 — 0.6131791

—2.38092 4+ 3.002131

—7.53165 — 2.42924]




Solutions to I}

V=1(vol + v=1C)

Cusp shape

u = —1.44707 — 0.160241

a = —0.1025080 — 0.01996731

b= —0.075688 + 0.6131791

—2.38092 — 3.002131

—7.53165 + 2.429241

= 1.46661 + 0.064561
—1.18298 + 1.354351
= —1.81615 4 1.041911

—6.76285 — 2.210011

—11.76840 + 2.545791

= 1.46661 — 0.064561
= —1.18298 — 1.354351
= —1.81615 — 1.0419171

—6.76285 + 2.210011

—11.76840 — 2.545791

= —1.47571
= 3.35878
= 4.21798

>~ & | & 2| © &
|

—8.10337

—9.82550

= 1.50201 + 0.246021
= 0.543477 — 0.7501651
= 1.09231 — 1.653321

7.50585 — 1.645581

—8.27015 + 0.739631

= 1.50201 — 0.246021
= 0.543477 + 0.7501651
= 1.09231 4 1.653321

7.50585 + 1.645581

—8.27015 — 0.739631

= —1.119750 4+ 0.0971141
= 0.366639 + 0.6637441

—0.814955 + 1.0246301

—8.91038 — 6.278181

= —0.344587 — 0.3024431

]
a
b
]
a
b
u = —0.344587 + 0.3024431
a
b
U
a = —1.119750 — 0.0971141
b

—0.814955 — 1.0246301

—8.91038 + 6.278181

= 0.366639 — 0.6637441
= 1.53592 4 0.234261

a= 2.64852 —0.491607

6.98523 — 10.075901

—8.82304 + 4.750081

b= 3.50928 + 0.088241
= 1.53592 — 0.234261

2.64852 4 0.491601
b= 3.50928 — 0.088241

6.98523 + 10.075901

—8.82304 — 4.750081




Solutions to I} V—1(vol + v/—1CS) Cusp shape
u= 1.55778
a= 220275 —8.18010 —9.41090
b= 247794

u = —1.55100 + 0.146811
a = —2.45672 — 0.035171
b= —2.88742 + 0.307401

—4.30018 4- 5.911541

—8.53274 — 5.501431

u = —1.55100 — 0.146811
a = —2.45672 + 0.035171
b= —2.88742 — 0.307401

—4.30018 — 5.9115471

—8.53274 4 5.501431

u= 0.323756
a= 207762
b= —1.24627

—2.07138

3.20840




II.
I = (u* —2u?+ b+ 2u, —u®+3ud+a+1, ub+u®—3u—2ud+2u?—u—1)

(i) Arc colorings

az =

aq =

ag =

(ii) Obstruction class =1

(iii) Cusp Shapes = 3u’ + u* — 14u® — u? + 14u — 18



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
C1,C2 (u—1)°
cs3,Cy u®
€4 (u+1)°
Cs, Cg wW—w? =3t 20+ 2 +u—1
cg, C12 wW—w+3ut -2+ —u—1
€ ub +u® +3ut + 20+ 20 Fu—1
€10, C11 Wt —3ut -2+ 2w —u—1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
6
C1,C2,C4 (y_l)
N y°
Cs5,C6, C10 y6 _ 7y5 + 17y4 _ 16y3 4 6y2 o 5y +1
C11
C8, €9, C12 Yo +5y° + 9y + 4y — 6> — By + 1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3

V=1(vol + y=1C)

Cusp shape

0.493180 + 0.5752881
a= 0.011399 — 0.9180551
b = —0.847526 4 0.0838691

u =

1.31531 — 1.972411

—6.43930 + 3.485961

u = 0.493180 — 0.5752881
0.011399 + 0.9180551
b= —0.847526 — 0.0838691

a =

1.31531 + 1.972411

—6.43930 — 3.485961

u = —0.483672
a = —0.687021
b= 1.38049

—2.38379

—23.4460

u = —1.52087 + 0.163101
a= 198288 + 0.880481
b= 2.63293 + 0.950197

—5.34051 4 4.592131

—10.66600 — 2.484681

u = —1.52087 — 0.163101
a= 198288 — 0.880481

—5.34051 — 4.592131

—10.66600 +- 2.484681

b= 2.63293 —0.950191

u= 153904

a = —3.30155 —9.30502 —18.3430
b= —-3.95130
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing

1 (u— 1% +u?® 4+ +33u+1)
€2 (u—1)% (W = Tu® 4+ —9u+1)

c3, Cr uS(u?t — u® 4 -+ 64u + 64)
ca (u+1)%)(u = 7u® + - = u+1)

s, Cg (b —u® —3u* + 203 + 20 +u— D) (u* —2u® + .- —8u® 4 1)
Cg (u® —u® + 3u — 203 + 20 —u — 1) (u®* + 2u® + - + 79560 + 4721)
€9 (b +ub +3u* + 203 + 20 +u— 1) (W —2u® + -+ 2u+1)

€10, €11 (u® 4+ u® — 3u® — 2u® + 2u® —u — 1)(u? —2u® 4 —8u? +1)
c12 (u® —u® +3u* — 2u® +2u% —u — 1) (u** —2u® + -+ 2u+ 1)
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IV. Riley Polynomials

Crossings Riley Polynomials at each crossing
€1 ((y — DO)(y** + 519> +--- — 789y + 1)
€2, ¢4 ((y = D)™ =y + - =33y +1)
¢s, Cr YO (y** — 39y%3 + - - - — 65536y + 4096)
€5, C65 C10 (S —7y° + - =By + 1)(y* — 26y + - — 16y + 1)
C11
cs (y° +5y° + 9y" + 4y° — 6y — 5y + 1)
(y?* + 94y 4 - — 805269180y + 22287841)
C9, C12 (W° +5¢° + -+ =5y + 1)(y** + 349> + -~ — 16y + 1)
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